

LABORING KENANGAN ANDURAN

16/ENAO3/031

Civil ENAWAZZINA

ENA 381

$$y = e^{x^2+x}$$

$$\text{let } u = x^2+x$$

$$\frac{dy}{du} = e^u$$

$$y = e^u \quad \frac{du}{dx} = 2x+1$$

$$\frac{dy}{dx} = \frac{du}{dx} \cdot \frac{dy}{du}$$

$$\frac{dy}{dx} = e^u \cdot (2x+1)$$

$$y' = (2x+1) \cdot e^u$$

$$y' = (2x+1) e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = \frac{d}{dx} [(2x+1) \cdot e^{x^2+x}]$$

Using product rule

$$u = 2x+1 \quad v = e^{x^2+x}$$

$$\frac{du}{dx} = 2$$

$$\frac{dv}{dx} = (2x+1) \cdot e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = \frac{v du}{dx} + u \frac{dv}{dx}$$

$$\frac{d^2y}{dx^2} = (2x+1) \cdot (2x+1) \cdot e^{x^2+x} + e^{x^2+x} \quad (2)$$

$$\text{but } y' = (2x+1) \cdot e^{x^2+x}$$

$$y = e^{x^2+x}$$

$$y'' = (2x+1) \cdot y' + 2y$$

for u_1

$$u_1 = y^{(2)}$$

$$u^{(n)} = y^{(n+2)}$$

$$v = 1$$

$$v^{(1)} = 0$$

for $W_2^{(n)}$

$$u = y^{(n)}$$

$$u^{(n)} = y^{(2n)}$$

$$u^{(n-1)} = y^{(2n-1)}$$

$$v = 2x + 1$$

$$v^{(1)} = 2$$

$$v^{(2)} = 0$$

for $W_3^{(n)}$

$$u = y^{(n)}$$

$$u^{(n)} = y^{(2n)}$$

$$u^{(n+2)} = y^{(2n+2)}$$

$$v = 2$$

$$v^{(1)} = 0$$

$$y^{(2n+2)} = (2x+1)^2 y^{(2n)} + 2y^{(2n)}$$

$$y^{(2n+2)} = y^{(2n+1)} (2x+1) + 2y^{(2n)}$$

② Using Leibnitz theorem.

$$y = x^3 e^{4x}$$

$$u = e^{4x} \quad v = x^3$$

$$u^{(n)} = 4^n e^{4x} \quad v^{(1)} = 3x^2$$

$$u^{(n-1)} = 4^{n-1} e^{4x} \quad v^{(2)} = 6x$$

$$u^{(n-2)} = 4^{n-2} e^{4x} \quad v^{(3)} = 6$$

$$u^{(n-3)} = 4^{n-3} e^{4x} \quad v^{(4)} = 0$$

$$y^{(n)} = u^{(n)} v + n u^{(n-1)} v^{(1)} + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)} + \dots$$

$$y^{(5)} = 4^5 e^{4x} x^3 + 5(4^4) e^{4x} 3x^2 + \frac{5(5-1)}{2!} 4^3 e^{4x} 6x + \frac{5(5-1)(5-2)}{3!} 4^2 e^{4x} \cdot 6$$

$$y^{(5)} = 1024x^3 e^{4x} + 3840x^2 e^{4x} + 3840x e^{4x} + 960 e^{4x}$$

$$y^{(5)} = 64 e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

1) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$x^2 y'' + x y' + y = 0$$

for $W_1^{(n)}$

$$u = y^{(n)}$$

$$u^{(n)} = y^{(2n+2)}$$

$$v = x^2$$

$$v^{(1)} = 2x$$

$$u^{(n-1)} = y^{(2n+1)}$$

$$v^{(2)} = 2$$

$$u^{(n-2)} = y^{(2n)}$$

$$v^{(3)} = 0$$

for W_2

$$u = y^{(n)}$$

$$v = x$$

VISTALINE

$$U^{(n)} = y^{(n+1)}$$

$$V^{(1)} = 1$$

$$U^{(n-1)} = y^{(n)}$$

$$V^{(2)} = 0$$

for $W_3^{(n)}$

$$U^{(2)} = y^{(n)}$$

$$V = 1$$

$$W_1^{(n)} = y^{(n+2)} x^2 + n y^{(n+1)} 2x + \frac{n(n-1)}{2} y^{(n)} \neq 0$$

$$W_2^{(n)} = y^{(n+1)} x + n y^{(n)}$$

$$W_3^{(n)} = y^{(n)}$$

$$W_1^{(n)} + W_2^{(n)} + W_3^{(n)} = 0$$

$$0 = y^{(n+2)} x^2 + n y^{(n+1)} 2x + n(n-1) y^{(n)} + y^{(n+1)} x + n y^{(n)} + y^{(n)}$$

$$0 = y^{(n+2)} x^2 + 2x y^{(n+1)} (2n+1) + y^{(n)} (n^2 - n + n + 1)$$

$$0 = y^{(n+2)} x^2 + 2x y^{(n+1)} (2n+1) + y^{(n)} (n^2 + 1)$$